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SET 1 ADVERBS

1. In response to an alarming rise in health

misinformation, the platform beganEoderating ]

posts more ----, flagging and removing content that

lacked credible sources or peer-reviewed backing.
\/Krstringently

B) exponentially

C) detrimentally

D) illicitly

E) notoriously

2. Since the introduction of deep learning models,
the accuracy of image recognition systems has

improved almost ----, leading to breakthroughs in

diagnostics, surveillance, and autonomous
navigation.

A) stringently

\}Aponentially

C) detrimentally
D) illicitly

E) notoriously
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3. The company’s decision to outsource 4. Investigators discovered that the pharmaceutical

manufacturing had ---- impacted local employment, data had been(obtained ----,, raising legal and ethical
————————

with hundreds of factory workers laid off and entire questions about the research team’s methods and

—_—
communities facing long-term economic instability. the journal’s peer-review process.
A) stringently -\ A) stringently
';\— Wl '\
B) exponentially B) exponentially

\ e\
\Qétrimentally b'&} 3 ‘éé\, * ﬂ C) detrimentally
D) illicitly \yﬁllicitly

E) notoriously C\_ E) notoriously

\

5_&( eS—
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5. The CEO was ---- known for aggressive takeovers

and hostile acquisitions, which earned him both
admiration and criticism across the international
business community.

A) stringently

B) exponentially

C) detrimentally 2 .

D) illicitly C%Wj
\/E'{notoriously L\@W m OO C
/

2
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SET2 NOUNS

1. The success of the sustainability initiative was

largely due to effective public ----, which encouraged
—————

individuals to reduce plastic consumption and

( participate in local recycling pr@

A) ramifications —

B) collaboration

o ——

C) intervention °

\A) outreach

E) deviation

Qm@*j W

2. The project failed due to a lack of ---- between /
&_/

departments, as each team worked independently
— N ’ v—r
without aligning their goals or sharing critical
\_,
updates.
—_—

A) ramifications

\%Ilaboration
C) intervention
D) outreach

E) deviation
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3. Government ---- in the housing market led to a 4, The slight ---- from the standard procedure
temporary stabilization of prices, but critics argued it resulted in an unexpected data inconsistency,
ekl il
distorted natural supply and demand dynamics. )<p .( prompting a full review of the experiment’s protocol.
A) intervention ¥ 3503 x A) collaboration
B) collaboration B) outreach
C) outreach C) intervention
D) deviation D) deviation  DEVIATE FROM SAPMAK ayriimak
E) ramifications E) ramifications
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5. The economic ---- of the policy shift were felt
= ———— [/
across sectors, with'small businesses experiencing !

both challenges and opportunities under the new

regulations. 3

e ——

A) intervention
B) deviation
C) outreach

D) collaboration

f)’ramifications
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SET 3 Phrasal verbs WN‘A
V\u’V‘(

1. The spokesperson attempted to ---- the 2. The research team'was ?sked to ----an
controversy surrounding the company’s iiolependent study to verify the surprising results
environmental practices by releasing a detailed reported in the original publication, especially given
sustainability report and inviting independent the unusually high success rate.
auditors. A) bring about
A) bring about - Wy out
B) carry out C) play down

\}}ﬂ(ay down D) take over
D) take over - E) fall through

E) fall through
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3. The merger was expected to create one of the @ Analysts believe that€merging technologies will ---
largest firms in the sector, but the deal uItimateIl;--- ( - major changes)in how we approach energy
- S——
due to unresolved legal complications and production, storage, and global distribuLign within
shareholder resistance. the next two decades.
lea | /} A
A) bring about ) bring about — \/ )’
e —

— —
B) carry out B) carry out
C) play down C) play down l\ \0 (N

q\t“?\k ~U ,:! N

D) take over &’——-—— take over ‘\’\'\—L .S

\

\}Yé_-l-lfhrougfl ]Cf;\ \ E) fall through
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5. The new CEO promised not to ---- the company

without first consulting department heads and
understanding the internal culture, hoping to avoid
sudden structural disruptions.

A) bring about

B) carry out

C) play down

\/?ﬁake over Q Co \P}j\j

E) fall through
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SET 4 Adjectives

\‘)‘lﬂ
1. The speaker’s argument was so ---- that even those

who initially disagreec{found }hemselves f‘efr)

reconsidering their positions by the end of the

2. Although the theory was once considered

revolutionary, many of its assumptions are now
—_—

viewed as ---- in light of recent empirical evidence

resentation. .
P and technological advancements.

1o dedisken / ugucu
A) volatile A) articulate
‘/ﬁfarticmate effective in speech
vB'(obsoIete
. -
C) redundant gereksiz C) redundant
e
D) mundane siradan D) volatile
—
E) obsolete gk E) mundane

Yo
ad X \
(\ BN \[i@

A
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3. The document was filled with ---- statements that 4. The financial markets became increasingly ---- in
-
contributed little to the discussion, making it response to the unpredictable geopolitical tensions,
=== —————
unnecessarily long and difficult to follow. causing investors to pull back from risk-heavy
A) articulate portfolios. \/ . }( j\l"
| XN
B) volatile \Ad/volatile fluctuating
C) redundant B) articulate
D) mundane C) obsolete
E) obsolete D) redundant
E) mundane
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5. The task may seem ---- on the surface, but it plays
a critical role in maintaining organizational efficiency

and consistency across departments.
e

—

\/f){undane ordinary / simple

B) volatile
C) obsolete
D) redundant

E) articulate
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SET 5 verbs

obsolote

1. i -—— . sl . .
The Eliof directors JEESHR - the outdated 2. The charity launched a new initiative designed to --

policy after a series of internal reviews revealed it no
pPoK IEVIEWS

-- access to education for children in conflict-affected

>

IohEeHalignedlith the organization’s ethical regions by building partnerships with local NGOs and

standards. . .
international donors.

e
rn'.\’
asor ol \@e’ (7/:\'6\°W \wH

B) implement

N rev\ok: AnnJ \ 3\03\" th

———

D) facilitate

\,
—_— \\b\(fl\” D) exacerbate
E) exacerbate ‘Ge S
E) implement

B) revoke

C) distort
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3. Critics argue that the media often ---- scientific 4. The government’s failure to address the water

data to attract public attention, oversimplifying QV shortage has only served to ---- tensions between
S —

complex findings and misrepresenting their real- urban and rural communities already competing for
——— )
world implications. \u limited resources.
PR T
\/()distort Cl ( A) distort

B) implement

B) facilitate \
NV
C) revoke \}Z)/exacerbate Q.g g (3
—

D) exacerbate D) implement / 9—
WON

E) facilitate E) revoke qu’
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5. The new framework will be difficult to ----‘qithout ,
—_—

% ‘ cross-sector collaboration, clear regulations, and
S N

adequate funding from both public and private

( stakeholders. ) \()L\B'}?

A) facilitate

B) revoke —

C) distort

D) exacerbate

\)?Kmplement
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